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BCQ/D-20 26096
COST ACCOUNTING
BC-501
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
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Compulsory Question ( IFaTE WvT)

1. Explain the following : 5%4=20
(1) Cost classification according to variability
(i) Types of cost centres
(i) ABC Analysis
(iv) Performa of cost sheet
(v) Effects of labour turnover
Frefafed =1 9o ®ifET
(i) UREARIEd SgER @M & YR
(i) @ &= F TR
(i) &, 9, § fovewo yomedt
(iv) &P T WEY

(v) #m e & 39
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2. Define Cost Accounting. Discuss its principles. Also
explain the objections against cost accounting. 15
ARG TElehd ! IR SIWT | AFA oiensd & Hgid
g st w1 ot T SN |

3. A timber merchant purchased 15000 cubic feet of timber
logs on 1 March, 2014 @ < 20 per cubic feet and stored
them in his timber yard for six months for seasoning. In
the timber yard the following items of expense were
incurred during the period seasoning : 15
(1) Rent of yard (area 3000 sq. ft.) ¥ 300 per month
(i) Salaries of 5 guards @ T 150 per month
(iii) Incidental expenses for maintenance, lighting etc.

@ X 200 per month

(iv) Annual share of general overhead expenses of the
business T 2,000.

(v) Insurance charges of the logs to be seasoned
@ 1/2% on the value of the unseasoned logs for
the period of seasoning.

50% of the floor area of the yard has been set apart for

seasoning of the timber and the remaining floor area for

stocking seasoned timber.

Loss in volume of logs due to seasoning 10%.
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Calculate the selling rate of the seasonal logs per cubic

feet to the nearest rupee on 1 September, 2014 so that

10% profit on the cost may be earned.

T fo=R =R 7 1 96, 2014 & % 20 9fd Hgfae

W W W W 15000 Ffawk we foeR wed @R @R

A fo=g 928 ¥ 6 R & fau gud & fau wR

W RU | 39 o=@ H foeR gEm & gl H#

frefafed e o=d fer T o

(i) w%e @ fRwA (&3 3000 3 we) T 300 Wfa HE

(i) 5ME & I @ T 150 WA HE

(iii)) TeX@mE, TR o o= '« @ % 200 W WE

(iv) =™ @& o e # few 2,000 |

(v) GOM @ oed @ o 'd Roge wed @
qed &1 12% %Had @M i @y & fau

S ® HA G B 50% foR wm gEW & fau y@m

for ST ¥ SR A A9 WE R B R @

o S # |

e W ogER § AR W 10% @ W %

1 TR, 2014 =1 9fA Hfeh T2 @ @< & oA

QW HI MUEI I AR AT W 10% oA9 HART S

TH |
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4. Explain the following : 15
(a) Differentiate between time keeping and time
booking.
(b) Taylor’s Differential piece rate system
(c) Profit Sharing and co-partnership schemes
frefafed @1 9vH FifT
(1) 999 @ed 9 HHF SR & §rd W
(9) TR I faugrmss wE AN
(W) @9 favee 9 We-WRER ot

5. (a) What is perpetual inventory system ?
fRR wih gt womeft 1 ¢ 2
(b) What are the merits and demerits of FIFO method

of material issue ?

frifaq wEt yomell § UYed ST Ul Wi fafy
® AY-BIEl FaET | 15

6. Surya Constructions Ltd. with paid up capital of
T 50,00,000 undertook a contract to construct MIG
apartments. The work started on 1 April, 2015. The
contract price was T 60 lakhs. Cash received on account
of contract upto 31 March, 2016 was I 18 lakhs (being
90% of work certified). Work completed but not certified
was 1,00,000. As on 31 March, 2016 material at sight
was estimated at I 30,000 machinery at sight costing
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T 2,00,000 was returned to stores and wages outstanding
were % 5,000. Plant and machinery to be depreciated @
5%.

The following were balances as on 31 March, 2016 : 15

Particulars N
Land and Building 23,00,000
Plant and Machinery (60% at sight) 25,00,000
Furniture 60,000
Material 14,00,000
Fuel and Powers 1,25,000
Site Expenses 5,000
Office Expenses 12,000
Rates and Taxes 15,000
Cash at Bank 1,33,000
Wages 2,50,000

Prepare contract account and balance sheet as on 31
March, 2016.

gt wem i wet A feget §f 2 50 @@ ®, MIG
Wi ST s g1 foran ® | wM 1 ede, 2015 9 UE
g | 3% H HiFd T 60 @@ ¢ | 31 WE, 2016 H
g TR IR @ fell & T 18 W@ ® @R Fw ufw
T W 90% © | SwEivd @ 1,00,000 €
31 99, 2016 1 HE WA W G H ged T 30,000
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2 | Hef frgeRt ged T 2,00,000 € WR H amg el
T SN 3 ey T 5,000 ¥ 1 HYMA W 5% HI R
Y gE dm ? |

o~ A

31 9™, 2016 w1 f=fafed soig on

Terawor 4
GG 23,00,000
e TE IR (60% HETE W) 25,00,000
TR 60,000
EIRpil 14,00,000
3§ TR 1,25,000
wRA & WS 5,000
FEAEE ® @A 12,000
W T W 15,000
CColi i 1,33,000
REE 2,50,000

3H @A § dog e 31 5E, 2016 @ ad@ H
TFAET |

7. Shubham enterprises has three manufacturing departments
A, B and C and one service department S. The ahead
particulars are available for one month of 25 working
days of 8 hours each day. All departments work all days
with full attendance.
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Expenses Total Production Deptt Service Deptt
4 A¥ BT CX SR

Power and 1100 200 300 360 240
Lighting

Supervisor’s 2000 — —  — —
Salary

Rent 500 — — — —

Welfare 600 — —  — —
Expenses

Other 1200 200 400 400 200
Expenses

Supervisor’s 30% 30% 20% 20%
Salary

No. of workers 3 4 2 1

Floor area 60 80 60 50
sq. meter

Service rendered 50% 30% 20%

by Service deptt
to production Deptt
Calculate the labour hour rate of the deptts A, B

and C. 15
oE ZESE 4 W e fawm s, 9 ek W @
9 Tk Wl TANM T 2 | Tk AW % 25 i feew
IR gfafed 8 5o | Gefem gaemd & w1 W € 1wt
faum @t for gt sufeufs @ @ w@ F
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fgqm 21, =, 9 =t 9fd U g9 K HI TUAET BT |

8. A manufacturing company engaging 100 workers at a

standard wage of ¥ 4.80 per hour. During a month there

are four weeks of 40 hours each. The standard performance

is set at 360 units per hour. The following is the summary

of wages paid during the month :

91 workers were paid @ < 4.80 per hour

5 workers were paid @ I 5.00 per hour
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Remaining were paid @ T 4.60 per hour

Power failure for 2 hours. Actual production was 57,960

units. Calculate labour variances. 15

T et & 3 100 ®EER T 4.80 WA wUe
T wegy X ° g fRT | TR wEH % 4 9we
9 Y% HWE % 40 ¥ B e € | WA e
foaea 360 sebrgal wia smer fafvea gem @ 1 3@ WE
¥ oqrad # T AW # OMET I YRR T
91 #oigd T 480 WA =T ® W W YA R
T

S AU W T 5.00 ¥fd EU @ W W WAE fRA TN
TR W T 4.60 Fd WU ® W W qTaM  foRa

29 & foau fosell ®a gE | arfae SR 57,960
hEal off | gm foameml &t ToE sifem |

9. What do you mean by cost control ? What are the
techniques of cost control ? Explain the necessary steps
for effective cost control. 15
A e w g efyym @ 2w fEEm w6 fafae
qehfieh 91 & 2 ama Freem % fau stavas fafae ol
™ Ui HifeT |
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